FIRIREB AT HY T REBHEFIERR

Bk woOR 4 Y| & 4 |m| wE %E‘EI% Fign | o | e
TEAA TR 57 1 |@ERr B (h2) 5 7. 300 8. 550 8.500 8.700 | 33.050
TEAA TR 57 2 |mHEAx R (h2) 5 7.850 8.975 7. 450 8.950 | 33.225

1-1 [mEAA FET Ky 57 3 [&kF EI (N3) 5 7.200 8. 350 7. 350 7.600 | 30.500
WERAA NET R T T 4 A I (N3) 5 8. 800 8. 950 9. 350 9.350 | 36.450
WA R—Y 7 T 5 |Elgp HAE (h2) 5 8. 050 7. 000 7.500 8.200 | 30.750
&Ry 77 6 [Bm Kk (1) 5 4. 950 7.300 8. 600 8. 150 | 29.000
&Ry 77 7 PINE S ER (1) 5 4. 950 8. 350 7. 550 7.825 | 28.675

1-2 | RR&ERy 77 8 |&t #AI (Uh2) 5 5. 000 7.900 7. 950 7.350 | 28.200
KRRy 77 9 [EME ZE#H (h2) 5 5. 000 7.000 7.700 7.800 | 27.500
BREAR— 7 T 10 | Bl WAE (/h4) 5 7. 300 6. 700 8. 450 7.900 [ 30.350
VAP = wlix 1N VA 11 |k 23 (h2) 5 6. 700 7.400 7.500 8.100 | 29.700
VAP = wlix 1N VA 12 |&E EBH (h2) 5 8. 000 7.150 7.800 7.750 | 30.700

1-3 |5 4 T EAE s 77 13 M meR (h3) 5 6. 750 7.425 8.100 8.350 | 30.625
F 4 FEAEEAE s 7 14 [ 0¥ (3) 5 6. 400 7.100 7.750 8.600 | 29.850
VAP = Bk 1 N VA 15 [#ER B (h2) 5 5. 750 6. 750 7.050 7.300 | 26.850
VAP v Bk 1 N VA 16 |/N@E - FoZs (/1) 5 6. 250 6. 950 7.400 7.150 | 27.750
VAP = Bk 1 N VA 17 |52 £ (1) 5 5. 450 6.975 7.550 7.000 | 26.975

1-4 |5 4 FEEEAE s 77 18 |=H Mm% (h1) 5 5. 800 6.575 6. 600 7.450 | 26. 425
T4 Ak 77 19 V&R 3R (Uh2) 5 5.300 6. 025 7. 600 7.800 | 26.725
T4 ek 77 20 |#xm A&k (h2) 5 6. 500 7.400 7.750 7.850 | 29.500




FIRIREB AT HY T REBHEFIERR

Bk woOR 4 Y| & 4 |m| wE %E‘EI% Fign | o | e
T4y ZT 21 [tRAZS A~ + (/h3) 6 10. 65 8. 80 9.55 10. 95 39.95
T4y 7T 22 PllE #wEe (/h3) 6 10. 25 9. 30 9. 40 10. 30 39. 25

2-1 |4 TERERs 77 23 | & (h4) 6 10. 75 8. 70 9.50 10. 05 39. 00
T4 TR TT 24 |REFIEESE (/N4) 6 9.70 8.25 10. 30 9.95 38. 20
WA R—Y 7 T 25 | BJjU R (/N3) 6 10. 35 7.20 9.10 10. 55 37. 20
VAP v a = Bk 15 VA 26 | E\IE (h2) 6 10. 45 10. 30 10. 40 10. 90 42. 05
VAP v = Bk 5 VA 27 |vEE HFn (Vh2) 6 10. 10 8. 85 10. 95 10. 65 40. 55

2-2 |[FarElinisihs 57 28 | AhAA (VN3) 6 10. 65 9. 40 11. 45 10. 60 42.10
VAP = Bk 1N VA 29 |y #EH (h4) 6 10. 70 9. 60 10. 10 11. 35 41.75
VAP = nlix 1N VA 41 |#hm EH (h4) 6 10. 65 10. 60 11.50 11. 15 43. 90
KSCHZ F_RAR—=T HF I —| 30 [Fnsd HFE Uh2) 6 5. 35 8. 30 8.85 11. 50 34. 00
VAP = wlix 1N VA 31 |&E Mk (Uh5) 6 11. 30 9.25 11. 15 12. 35 44. 05

2-3 | T 4 FEAEEAE Y 77 32 R JHd (Vh6) 6 10. 45 8. 00 10. 80 11. 00 40. 25
Ty e e 57 | 33 | AFE EIR (Uh4) 6 9. 80 9. 45 10. 20 10. 95 40. 40
HE v KR 7 | 34 |EE FRE (UNE) 6 9. 65 7.40 8. 60 9. 30 34.95
HE v KR 57 | 35 |l EF (UNB) 6 10. 85 9.85 10. 30 11. 05 42. 05

9.4 THYxy oo SEHEs 57 | 36 |20 BE (Uh5) 6 11.40 10. 35 11.20 11. 40 44, 35
FEY Yo ey 77 | 37 |k EE (UN5) 6 11. 20 11. 05 10. 85 11. 30 44, 40
FHY Yo e 7 | 38 | A8 wexE (Uh6) 6 9. 90 9.10 8. 90 10. 35 38. 25
T4 ek 77 39 [EFH HmEE (h4) 7 10. 95 10. 10 11. 00 11. 00 43. 05

N TV N LI RO I I I e I
VAP = wlix 1N VA 42 | KPE ¥l (Uh5) 7 10. 70 7.50 10. 55 11. 30 40. 05
T4 Ak 77 43 | 7 (h6) 7 11. 20 10. 30 9. 65 10. 60 41.75




FIRIREB AT HY T REBHEFIERR

Bk woOR 4 Y| & 4 |m| wE %E‘EI% Fign | o | e
BEEAR— 7 57 4 | FHis (h5) 7 11. 05 9. 60 9. 50 9. 80 39. 95
BEEAR— 7 57 45 (UG EREE (N5) 7 10. 00 9. 00 7.85 9. 30 36. 15

4o KSCEZF RAR—Y T HFI—| 46 | B EH (/h4) 7 9.75 9.75 8. 00 9. 60 37.10
KSCH FRAR—=Y T H57I—| 47 |F%d,. B8 (h2) | 7 10. 40 7.80 9.80 10. 70 38.70
WP AR— Y peEOKSZHR | 48 [lH &ie (N 3) 7 5.50 8. 00 7.70 9. 65 30. 85
o AR =R eEOKSZR | 49 [/NEFLESE (N4) 7 9.70 9.05 9.75 10. 80 39. 30
WP RAR— Y peEORSZR | 50 [JEE EEL (UN5) 7 9.70 10. 05 10. 40 10. 70 40. 85
WP AR—pEEOKSHR | 51 (@ = (N 3) 7 5. 80 9.55 6. 95 10. 65 32.95

3-3 |V - ARV REEROKSHE | 52 | K B (h3) 7 5. 40 9.25 8. 10 10. 50 33.25
B AR—YFEMOKkEHE | 53 |'FBIHEEST (h4) 7 5. 45 7.60 8. 50 9. 85 31. 40
W AR—YEEMOKESHE | 54 |5/ ®BIE (h4) 7 5.70 8. 65 9. 40 9. 60 33.35
W AR—YEEMOKEHE | 55 [P FEVER (U 3) 7 5.50 8. 40 10. 55 10. 75 35. 20
W AR—YEEMOKEHE | 56 [T BEFE (3) 7 5.30 10. 20 9.15 10. 85 35.50

34 |V - ARV REERORSHE | 57 |TE %K (h6) 7 10. 00 9. 30 10. 80 10. 90 41. 00
WP AR—pERORSHE | 58 | HA 15 (h6) 7 9.95 8.35 10. 60 11. 05 39. 95
W AR—YEEMOKSHE | 59 [faH AFE (N5) 7 9. 60 10. 70 11.25 11. 20 42.75




BIERMO A= ThYTRIEBRBEFIERS

BEAL OB 4 | & || owmm | RS wen | own | aw
F4 TR T TA 89 |texAirHeE (3) | 10| 12.25 10. 95 12. 10 12.20 | 47.50
T4 FTERERES TTA 16 |fm & (m1) [0 12.20 8.75 11. 05 11.65 | 43.65
T4 FTERES TTA 91 [WrAEAJHEE (B 1) | 10| 12.30 9.95 11. 65 12.90 | 46.80
51 T4 FTERERT TTA 92 (LBt (1) | 10] 12.85 11. 30 12. 60 13.05 | 49.80
T4 TERERI TT A F— L5 37. 40 32.20 36. 35 38.15 | 144.10
T4 ERERs TT 93 [Jilms @ (N5) 9 11.55 9. 60 9.65 12.55 | 43.35
T4 ERERs TT 94 [AF FT (F1) | 9 11.95 9.85 9.70 11.25 | 42.75
T4 rERRs TT 95 [B)11 ey (F1) | 9 9.50 9.30 9.85 10.70 | 39.35
FEAAL NETEEEZ S 7 | 96 [limAZE (1) [ 10| 12.30 7.75 10. 65 11.20 | 41.90
FEAA NET R 57 | 97 B FER (h1) [ 10| 12.05 7.85 9.75 11.45 | 41.10
7574 7M 98 |#MZsxF (h2) | 10| 12.30 9. 40 9.45 10.90 | 42.05
5 7574 7M 99 %27 ¥ (113) | 10| 13.40 12.20 11. 10 13.20 | 49.90
HWY vy v SRRy 77 1100 [T fEE (Uh5) | 9 kokk Fokk Fokk sokok sokk
FEAAL TR 57 [ 101 |k g Oh6) | 9 11. 10 10. 00 10. 00 12.40 | 43.50
AL FET R 57 | 102 | & A4S (h6) | 9 12. 10 9.35 11.70 11.85 | 45.00
FEAAL NETEERZ 57 [ 103 |k #& (h2) | 9 11.25 9.10 9.70 10.40 | 40.45
FHC Yy LSRRy 57 | 104 /MK g (h1) | 10| 12.55 10. 80 12. 20 11.50 | 47.05
FH Yy o e sk 57 | 105 s &% (1) [10|  10.50 11. 00 11.95 10.25 | 43.70
ROy e sk 57 106 |13k #iA (h2) [ 10| 12.55 10.75 12. 00 12.00 | 47.30
ROy ey sk 57 (107 | B g (h2) [0 12.25 9.70 11.25 12.65 | 45.85
5-3 | E#HYx e IkERS T T F— L3 37.35 32.55 36. 15 36.15 | 142.20
F sy 57 (108 | HE (1) 9 11. 30 9.35 9.05 10.70 | 40. 40
F el dEy 57 (109 |5 4% (h1) | 9 11. 00 9.45 8. 40 9.90 | 38.75
774 7M 110 |Z% oW (he) | 9 10. 75 9.20 11. 40 9.95 | 41.30
774 7M 11| BAOEY (h6) | 9 11.25 10. 35 11. 20 10.75 | 43.55
F4FERERs T 7B 112 |8 4 (1) [10| 12.65 9.95 11.05 12.40 | 46.05
F4FERERs T 7B 13 |RF R (&m2) [10| 13.60 11.55 12. 35 13.65 | 51.15
F 4R 5T B 14| TF B (1) 10| 12.60 9.20 11. 30 12.90 | 46.00
F4FERERs T 7B 115|Em %7 (h6) [ 10| 13.45 9.85 12. 85 12.45 | 48.60
54 (F o4 rEk#r 778 F— L5 39. 70 31.35 36. 50 39.00 | 146.55
TRy 7T 90 [ % (F1) | 10 *kok ok ook k% k%
PEER R —Y 7 5T 117 | BZR (h3) [0 11.90 8.15 6. 95 9.45 | 36.45
ERk#Rs 57 L8 |fm &Y (h1) [0 11.20 9.30 11.95 11.95 | 44.40
EMikr 57 119 |mkE %)y (h1) [0 12.30 9.65 11. 90 11.40 | 45.25




